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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – IV-EXAMINATION – WINTER 2015 

 

Subject Code: 342901 Date:   17/12/2015 

Subject Name: Yarn Manufacturing Technology - II 

Time: 02:30 PM TO 5:00 PM Total Marks: 70 
 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 
 

 

Q.1 (a) Explain principle of twisting and winding in ring frame machine. 07 

 (b) Draw a sketch showing passage of material in comber machine. 07 

    
Q.2 (a) Explain different types of flyer used in speed frame. 07 

 (b) Explain detaching operation in comber machine. 07 

  OR  

 (b) Explain the any one drafting system in ring frame. 07 

    
Q.3 (a) Explain dry doubling system. 07 

 (b) Explain the production of spot yarn. 07 

  OR  

Q.3 (a) Explain the antiwedge ring in detail. 07 

 (b) Draw a sketch showing passage of material through ring frame machine.  07 

    
Q.4 (a) Explain the factor for the selection of traveller. 07 

 (b) Explain any three important design changes in modern speed frame. 07 

  OR  

Q. 4 (a) Write the function of Ring, Traveller, Traveller clearer, Ring rail, Separator. 07 

 (b) Write the function of Flyer, pressure arm, condenser, Flyer top, aprons. 07 

    
Q.5 (a) Explain nipper movement in comber machine. 07 

 (b) Explain the willow waste opener with neat sketch. 07 

  OR  

Q.5 (a) Calculate the production of Ring frame in Gms/spl/shift from the following 

data. Spindle speed = 17000 rpm, Count (Ne) = 30 , TPI = 22,  

Efficiency = 93%, No of spindle = 1000 

07 

 (b) 

 

Calculate the production of comber machine in kgs machine from the 

following data. Feed/nip = 4.9mm, Nips/min = 450, Lap weight =68 
gms/mts, Noil= 19%, No of heads = 8, Efficiency= 90%, Working hours = 8 

hrs. 

07 

 

************ 
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ગજુરાતી 
પ્રશ્ન. ૧ અ ર િંગફે્રમ મશીનમ ાં ટ્વિસ્ટિંગ અને િ ઇસ્ડિંગ નો વિધ્ ાંત િમજાિો. ૦૭ 

 બ કોમ્બ  મશીનમ ાં મરટર યલનો મ ગગ દશ ગિતી આકૃવત દો ો. ૦૭ 

    
પ્રશ્ન. ૨ અ ્પીડફે્રમમ ાં િપ  ત  જુદ  જુદ  ફ્લ ય ન  પ્રક   િમજાિો. ૦૭ 

 બ કોમ્બ  મશીનમ ાં રડટેચ િંગ ઓપ ેશન િમજાિો. ૦૭ 

  અથવા  

 બ ર િંગફે્રમમ ાં કોઈ પણ એક ડ્ર ફ્ટીંગ પ્રધ્વત િમજાિો. ૦૭ 

    
પ્રશ્ન. ૩ અ ડ્ર ય ડબચલિંગ પધ્વત િમજાિો. ૦૭ 

 બ ્પોટ ય નગ નુાં ઉતપ દન િમજાિો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ એંટીિેજ ર િંગ િવિ્ત   િમજાિો. ૦૭ 

 બ ર િંગફે્રમ મશીનમ ાં મરટર યલનો મ ગગ દશ ગિતી આકૃવત દો ો. ૦૭ 

    
પ્રશ્ન. ૪ અ ટ્ર િેલ ની  પિાંદગી મ ટેન  ફેક્ટ  િમજાિો.  ૦૭ 

 બ મોડનગ ્પીડફે્રમમ ાં થયેલ  કોઈ પણ ત્રણ મહત્િન  ફે ફ   િમજાિો. ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ ર િંગ, ટ્ર િેલ , ટ્ર િેલ  ક્લીય  ,  ીંગ  ેઇલ , િેપ ેટ  ન  ક યો લખો. ૦૭ 

 બ ફ્લ ય , પ્રેશ  આમગ, ક્ડે્િ , ફ્લ ય  ટોપ ,એપ્રોનિ ન  ક યો લખો. ૦૭ 

    
પ્રશ્ન. ૫ અ કોમ્બ  મશીનમ ાં વનપ  મિુમેંટ િમજાિો. ૦૭ 

 બ વિલો િે્ટ ઓપને  ્િચ્છ આકૃવત િ થે િમજાિો. ૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ ની ેની વિગતો પ થી ર િંગફે્રમમશીનનુાં ઉતપ દન ગ્ર મ/્પીંડલ/વશફ્ટમ ાં શો્ો. 
્પીંડલ ્પીડ=૧૭૦૦૦ આ પીએમ, ક ઉ્ટ (ઇંગ્લલશ)=૩૦, ટીપીઆઈ=૨૨, 
ક યગક્ષમત = ૯૩%, ્પીંડલ ની િાંખ્ય  = ૧૦૦૦. 

૦૭ 

 બ ની ેની વિગતો પ થી કોમ્બ  મશીન નુાં ઉતપ દન રકલોગ્ર મમ ાં શો્ો. 
ફીડ/નીપ=૪.૯ વમચલવમટ , વનપ્િ/વમવનટ=૪૫૦, લેપનુાંિજન=૬૮ ગ્ર મ/મીટ    
નોઇલ=૧૯%, હડે ની િાંખ્ય = ૮, ક યગક્ષમત = ૯૦%, ક મનો િમય= ૮ કલ ક 

૦૭ 

 

************ 

 


